B2

A AL AT R R R

1 #R LFESOLH TR/KFRA % (R0232)
2 AT OWEE  (5Pr) A LET N —H
(] FRRETEHA N=4807
T A L=4.0km
P S ERHAS L=4.0km
/K FERRFA 1L=4.0km
KRR N=10f&Fr
3 TEXEHIM SR2EILHLITH ~ Sf342H26H
4 AFLEIT B (5P A2FE11H 10 B AL 5 2R8 55 E822)
5 T%FLCGRK) &% ¥ 858,000 — (BliA F)
6 HILE (PEE T4 St —r  (REEGEE R HEE
(fE At RBFREHIENXERLT B19%23 5
7 TIEAMMS ¥ 948,200 — (FiiAIr)
8 AL PRAM A% ¥ (BliAZr)
9 AFLEDOEEIDO AALEHE (BithX)
=5 | =5 |
AL = 4 F1EAFLEEE |\ B2l AFLE%EE —
(M) (M)
RH> Y —2 780 \ YEFL(90.49%)
7 H R
PN 4 960 \
() B AT =Y u B 915
KR E T
e =TI 950
KR & ERT
b H AL 7 2
R P ST 950 \
AT —F
KWK 920 \
fife o
=7
i PR RS b FAGHE




